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SA 2O
A 22y Aot ety /2 )
Chel: S4stE 223 g EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Hots THAAM(21) 1,950,000 3,250,000 1,300,000
= 1,500,000
= 450,000

403 MR HHMSAHE01H 1,950,000 3,250,000 1,300,000
= 1,500,000
< 450,000

01 MHXIHH A 22 1,950,000 3,250,000 1,300,000
OEx%s MHAAE 1,950,000
[ 1,500,000
= 450,000

OFE Bt e & 2(2 1) 100,000 137,200 A37,200
= 100,000

403 AXIEHMSA=Z0l1d 100,000 137,200 A37,200
[ 100,000

01 AXISHHA 22 £ 100,000 137,200 A37,200
O0tgd =ttt e &= X3 100,000
= 100,000

MEHEIOE 22 RRBHIA)(=1) 161,000 114,000 47,000
s 161,000

308 AtXIEMSOIE 161,000 114,000 47,000
[ 161,000

01 XN BSELES 161,000 114,000 47,000
oue Wit M 2= BFUdsSHA=H 85,000
= 85,000
O0IME 2 SR alI(2) sk (2H) 76,000
= 76,000

MEHEIOE 2 RRABHAE)(Z1) 71,000 60,000 11,000
s 71,000

403 MR EHSAHE01H 71,000 60,000 11,000
[ 71,000

01 AXISHHA=2 2L 71,000 60,000 11,000
oue Wt BN 2= BFUdSHASH 31,000
= 31,000
O0oIME 2 SUHHE2Z alI(2) sk (2H) 40,000
[ 40,000

OFHE OfAM - QIMAIE 2= XA (21) 400,000 357,000 43,000
= 400,000

403 MR HMSAH201H 400,000 357,000 43,000
s 400,000

01 AR A =2 £ 400,000 357,000 43,000
OOr8 & Ot - 2{MAlE =2+ XIHA 400,000
= 400,000
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SA 2O
M YADD AVUSH(SIUTT/BY)
Chel: S4stE 223 g EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
ZEABCA SE(3&) (=) 13,844,000 14,244,000 A400,000
= 10,131,000
= 3,713,000

308 AXIHSOIA 13,844,000 14,244,000 A400,000
= 10,131,000
< 3,713,000

01 HASHHBSEEXS 13,844,000 14,244,000 A400,000
OXNH2ALHE A =4 13,844,000
[ 10,131,000
= 3,713,000

2ENHH A SE(A2)(212) 3,108,500 6,766,500 A3,658,000
= 2,254,000
=S 854,500

403 AXIEHMSAH=0lH 3,108,500 6,766,500 A3,658,000
= 2,254,000
< 854,500

01 RAXISHA 22 % 3,108,500 6,766,500 A3,658,000
OXNH22ZHE A 4 3,108,500
[ 2,254,000
= 854,500

HEZDE NARTOHL( 219 AEHOISDHD 178X 2,020,500 750,000 1,270,500

4)(B4) (=)

= 1,347,000
=S 673,500

308 XXM SOl 2,020,500 750,000 1,270,500
= 1,347,000
= 673,500

01 XN BSEES 2,020,500 750,000 1,270,500
O'21d &=A0IEMT 17824 2,020,500
= 1,347,000
S 673,500

HES2E X220 (219 401202 178X 2,731,500 0 2,731,500

&)(1E)(3D)

= 1,821,000
= 910,500

403 X SHHMSAH=01H 2,731,500 0 2,731,500
= 1,821,000
== 910,500

01 AXISHHA= 2L 2,731,500 0 2,731,500
O'21d &=A0IEMT 17824 2,731,500
= 1,821,000
< 910,500
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SA 2O
M YADD AVUSH(SIUTT/BY)
&el: SHstE 22 XE Hg EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SR 2REC HAFRAAL(2 D) 1,638,000 2,535,000 897,000
= 1,260,000
= 378,000

403 MR HHMSAHE01H 1,638,000 2,535,000 897,000
= 1,260,000
< 378,000

01 A= 2L 1,638,000 2,535,000 897,000
ORFUZ 2otEES HAEHAE 1,638,000
[ 1,260,000
= 378,000

2ZSAE REI00 REE2 £2d(=21) 3,600,000 4,440,000 840,000
= 2,400,000
=S 1,200,000

403 MR SHHMSAH=01H 3,600,000 4,440,000 A840,000
= 2,400,000
< 1,200,000

01 AXISHA 22 % 3,600,000 4,440,000 840,000
o= REI0 mEEE &4 3,600,000
[ 2,400,000
= 1,200,000

OFE Lot 2 ol=et 2x(=21) 150,000 109,000 41,000
[ 150,000

403 MR HHMSAHE01H 150,000 109,000 41,000
[ 150,000

01 AR A =2 £ 150,000 109,000 41,000
O0tgd g 2 el 25 K& 150,000
= 150,000

HZX S 224 245 G (ZY)(=1) 2,100,000 2,175,000 75,000
s 1,400,000
= 700,000

308 XXM SO0IH 2,100,000 2,175,000 AT75,000
= 1,400,000
== 700,000

01 HRESHH B EES 2,100,000 2,175,000 A75,000
OHEXNS 234 2d35t 2,100,000
= 1,400,000
< 700,000

HZXS 2248 243 MG (X2)(=1) 4,045,500 7,875,000 A3,829,500
[ 2,697,000
= 1,348,500

403 THXIMSAH=01H 4,045,500 7,875,000 A3,829,500
= 2,697,000
=S 1,348,500
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120
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2860
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MEE
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A 2204
A HE2HHHI(2ZHL D) (OIEHDIE})
&l J12Z (CH9: &S1)
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
OFA2Z AtR2teld] 25,698
202 Ot 15,960 11,704 4,25
01 =G4 bl 15,960 11,704 4,25
FA2E UL 15,960
203 HRF&lY| 3,600 3,600
M EN2HHRFA| 3,600 3,600
©202! O|at 300,000& =123 3,600
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